FERNZ / Components
No. 2 / Part name M= / Pcs #E / Material 8- REAUIE / Color-Finish
1 |IL—L 4 T ILSIRH A A6063S-T5 DIWIN=TILRAb, TF9ITILIA
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 |a—F—7Jnvy 4 ABS#ifig UL94HB SANTL—, TFvY
Corner block ABS UL94HB Light gray , Black
3 |a—F—Fvvy7 /Blind plug 8 ISRLY / TPE SANTL—, TFvY
Light gray , Black
4 INAIAFHIRFIL / Slide panel 1 7 JLZE#R / Aluminium A1050P t=1.5 AT 5L ILIN—TF LAk / Silver * Hairline brushed & Anodized
7 ILEHR / Aluminium A1100P t=1.5 TS5y « %L / Black = Painted
5 RCIEH/NHRIL / Screwed panel 1 7 LR / Aluminium A1050P t=1.5 ATSAY)ILIN—TF LAk / Silver = Hairline brushed & Anodized
FJLEAR / Aluminium AT100P t=1.5 | T 5w% - % / Black - Painted
6 |EfFTER (M4 x 15 FX) 16 #* =fEyniA—tk
?‘ Screw (M4 - 15 Pan head) Steel Trivalent chromate
7| BAFER (M3 x 5 FE{tH) 4 % Sy ZfiRo0A—k
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
8 | /"KL / Carrying handle 1 TILEIRH A A6063S-T5 EZRBTSVIT LA LFRMDILA—T LA
Extruded aluminium A6063S-T5 Silver , Black = Anodized
9  |BATER (M4 x 10 FNSW{F) 2 % =ffiyRit—k
Screw (M4 - 10 Pan head with spring washer) Steel Trivalent chromate

BRRUINTFERTE

/ * 9
|
Ao

“i
L3

@ eV

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

NURILFarvra— LRy I X
CONTROL BOX with CARRYING HANDLE

o]

B HREIFERED) / Color Type(End of product number)

585 / Code | /S#%JL / Panel | IL—.Ls / Freme| 3—7}— / Corner I\>KRJL / Carrying handle
GS < JLiN— / Silver < )LiN— / Silver SArJ'L— / Light gray < JLiN— / Silver
BB J5v% / Black 759% / Black 75v7% / Black J5v% / Black

R/ Approved

13/ Checked B[ /Created | BF

ES iR

YEm

/Product number RE/Scale
FCH10-35-2001
H/Date  2017/06/14 1/9




L —L348| / Frame3 side

29.7

200

IL—L 148l / Frame1 side

350
126.5

< B

{1

I~ B

TL—L248] / Frame? side

INPAFHFINRILE T % / Slide panel MAX dim. 310

A-A(1:35)

BE#~Ti% / MAX dim. 304

RUEIEH/NRILERT% / Screwed panel MAX dim. 304

63.2

L — LAl / Frame4 side

100.4

13

B-B(1:35)

B3Nt / MAX dim. 94

o
©
. o
£ ©
o
<
<
=
—_ <t
g | ©
S
£
L35
= x
R
~ =
W~
=
Rt
=R
T

INARAHFHINRILE

63.2
T —
1 —

e ——

HCIEDH/SRILEZNTiE / Screwed panel MAX dim. 154

(I

o

25

NS

&

C: 7L—LYEKE / Frame cross—section

FwkL—JL / Nut rail
AZARF I RiE

RFEATav i RSARF Yk FZ-3 EANSELAHEET,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
NURIILFayka—LRY o R
CONTROL BOX with CARRYING HANDLE

o]

A& 8/ Approved

1% [X|/Checked

£

#IX/Created

iR

R /Product number

FCH10-35-2001

RFE/Scale
1:3.5

{EBL B /Date 2017/06/14

2 /5




18.1

18.1
8.7

8.7

19.7
4 13.7
8 82 ~
< — <
0 2;
— 1.8
5.7
2
=37
0 © ™
< N =
9 13.7
22.7

FvkL—JL / Nut rail

99.4

4-M4

2-M3

81.74

294 5

JL—.s1 / Framel

2L—L2 / Frame2

304

2-p4.5

120

I

{EBL B /Date 2017/06/14

mh/Title
TAKACHI) HtaitshFBMTE S—il 2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel , 2
A& 8/ Approved & X]/Checked #[X/Created B /Product number RE/Soale
H100.4 - W350 I3
E b1 s 5




18.1

18.1
8.7

8.7

4.05

1.2

1.65

19.7

4 13.7
82 r~
=
03
e
1.8
5.7
o
=?
™~
A
13.7
22.7

FvkL—JL / Nut rail

99.4

4-M4

81.74

L —.13 / Frame3

154

—_—

JL—.L\4 / Frame4

fad /Title
TAKACHI) HtaitshFBMTE SL—13 .4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3 , 4
A& 55 /Approved 1% [X|/Checked #U[X]/Created F4Z /Product number FRIE/Seale
H100.4 - D200 13
E b1 . 5

{EBL B /Date 2017/06/14




INAAFHINAIL / slide panel

BR~tiE / MAX dim. 310

1.5 | 321.9 |
REL—MA
S Surface protective film side
£
©
o o
g - - - - + - - - - —- = - - - - + - - - -
\ ~—
M
1G —
R
i
ANTIAVHR e 11 B2 :
JINAJLZRE /Panel Frontside & GS D& JNZJLEE /Panel Backside
Hairline brushed direction.
Color type GS only.
RC1EH /AL / Screwed panel
4-24.2 3215
—’1 3 — 294
A% / MAX dim. 304 ‘ ‘
| | \I |
5 M) e - ™
| | REES—MA
3 Surface protective film side
£
S
>
< o
= —_— - = 8 -—_
~ -
pl
1G =
R
T
| ANT AV HR —Jp—
= —o— —\—o— )
' ’ BiLEE GS D& .
/8% JL3RE/Panel Frontside Hairline brushed direction. /\F)LEEH/Panel Backside
Color type GS only.
an/Title
TAKACHI] #RXSHAHFERITE ey O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 E2/Approved #%[X/Checked #1[X]/Created FIFE /Product number RE/Scale
W350 - D200 13
T iR 5 /5
{ERL B /Date 2017/06/14




